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(1) ZEhteti(v) YTHOEREICEY v = 10 %
(2)EE T8 (m)
1
al= 2.0 = 1.25
100
m = a1l X SL = 1.25 X 24 = 30.0 N/mf
Xo>T m = 30.0 N/mf
(3)KEA FEE(W/C) m = -22.4 + 29.8 X C/W
W/C = 29.8 = (30.0 + 22.4) X 100 = 56.5 % = [60% (_E[Rf#) ]
SW/C = 56.5 %
<4)$u7k£<w) WTHOFEFKICEY W = 158 ke/ni
(5)HNSrE A F&E(C) C =W = (W/C) X 100 = 158 = 56.5 X 100 = 280 kg/m
Cv= C + B = 280 + 3.02 = 93 L/nd
(6) 255 & (A) A = 4.5 % X 1000 = 45 L/md
() HNTHEME(G) S THOFEREICEY S/ = 0.634 m/m EFEER = 62.0 %
Gv = 0.634 X 1000 X 62.0 = 100 = 393 L/mi
Glv = Gv X 25.0 % = 98 L/ Gl= GIvXEWLBEE = 98 X 2.71 = 266 kg/m
G2v = Gv X 25.0 % = 98 L/m G2= G2UXRKHEE = 08 X 2.71 = 266 keg/m
G3v = Gv X 50.0 % = 197 L/m G3= G3vXEWEE = 197 X 2.70 = 532  kg/m
(8) HALMEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 689 = 311 L/m
Slv = Sv X 60.0 % = 187 L/m S1= SIvXHKWEE = 187 X 2.64 = 494  kg/m
S2v = Sv X 40.0 % = 124 L/m S2= S2yXHKHEE = 124 X 2.67 = 331 kg/mi
(9)EME(s/a) s/a = Sv + (Gv+Syv) X 100 = 44.2 %
(10) HprEfAlE (Ad) Ad = C X ISR X EE = 280 X 0.5000 % X 1.00 = 1.40 kg/mi
i & = ke /mi
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